HFEARAEE 3 5 (BE45BMR) B H

)UFL%M?F% YR —HER

A D T 15 AT E I F AL (BT AFL) K5 Sk M EUR

T F % 4 HiTaEﬁﬂﬁ,l% PREfLE T

i Tt E L:200.0m ﬁ%ﬁ A=1,600.0m2

I = #ff = +T —xK HEET —3X BET —=X
XL —= ﬂyi 2T —=
A KL #E A H TH SAT ST
H SFI3HEILAL15H ()
AFI3FE1THIA (K) FHSET S HipN
b = RS A 151 (R)
AALATRS 14,980,000 [
u&ﬁﬁﬂ'}%ﬁﬁﬂ%ﬁ%ﬁﬁi%?S*—lél {ﬁ%’ﬂé%ﬁ 1.498.000 Fq
N8 [ 2 A~ATAT T - _ i 2
woALR AT () e LS 16,478,000 [
T EARE (k) 16,611,100 [
R4 NO A T4 R 1= H (M) 281 B (M) 3| H (M)
196 | (PR 15,670,000
965 | R KA 15,106,000
1071 [>TETY7 00 14,980,000 VAL
1094 |(A) IR 15,050,000
1109 |0 BRI 15,241,000
1110 |0 15,100,000
2938 AR BLZE (BK) Eﬁl}ﬁ

LI aA

AR e s AL (T H)

MTNZEFEA B0l BTRZEHR B R44
AR x5 WLNZER R4k [SV4E = BPOE TN

T T

S




